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in a
Thirty six vehicles are par‘ff(tjermthe
parking lot in a single row. ite
first car, there is oné scooter. b
Second'car, there aré two Scooh e.
After the third car, there are : ;’e‘e
scooters and so on. Work oud e
number of scooters in the second na

of the row.
(A) 10 (8) 12
(C) 15 (D) 17

In a shop, the items were arranged in
a shelf consisting of six FOWs. lecmt:;
are arranged above the tins O
chocolates but below the rows of
packets of chips, cakes are at the
bottom and the bottles of
peppermints are  below the
chocolates. The topmost row had the
display of jam bottles. Where gxactly
are the bottles of peppermints ?
Mention the place from th% top.

(A) 2" (8) 3%

(c) a™ (D) 5

Choose the correct alternative.
Malaria : Disease : : Spear : ?

(A) Wound (B) Sword
(C) Weapon (D) Death

In the following four words, three are
alike in some manner and the fourth one
is different. Choose out the odd one.

iA) Graﬁes iB) Pineapple

C) Cashew D) Apple

If in a certain language FASHION is
coded as FOIHSAN, how is PROBLEM

coded in that code ?
(A) ROBLEMP (B) PELBORM
(C) PRBOELM (D) RPBOELM

In what ratio should water and wine
be mixed so that after selling the

mixture at the cost price a profit of
33.33% is made ?

™ ma

The average weight of 8 men is
iIncreased by 1.5 kg, when one of the
men who weigh 65 kg is replaced by
a new man. The weight of the new
man is ta
A) 60ke
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11.

12.

13.

14.

15.

Three numbers are in theratio3:4:5
and their LCM is 2400. Their HCF is
(A) 40 (B) 80

(C) 120 (D) 200

The difference between a two digit
number and the number obtained by
interchanging the positions of its
digits is 36. What is the difference
between the two digits of that
number ?

(A) 3

(B) 4

(C) 9

(D) None of these

Find the number, when 15 s
subtracted from 7 times the number;
the result is 10 more than twice of

the number.
(A) 5
(€)1 375

(B) 15
(D) 4

Richter scale is used for measuring
(A) Density of liquid

(B) Intensity of earthquakes

(C) Velocity of wind

(D) Humidity of air

A transformer is used to

(A) Increase DC voltage

(B) Increase or decrease AC voltage
(C) Decrease DC voltage

(D) Convert DCinto AC

In a chemically pure state diamonds
are

(A) Monochromatic

(B) Polychromatic

(C) Colourless

(D) None of these

Which type of medicine is given to
patients suffering from diabetes ?

(A) Penicillin

(B) Insulin

(C) Sulpha drugs

(D) None of these

Malaria is a disease which affects the

(A) Heart (B) Lungs
(C) Spleen (D) Kidney
D) AN
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16.

17.

18.

19.

21.

ENGLI

Find the correctly spelt o :ts
(A) coalition (B) cou” r:'sus
(C) colusion (D)R05

Fill in the blanks with appropriate
prepositions : :
A very agile person observed his
reflection a glass qnd
obtained a fairly accurate conception
his appearance.

(B)” on; of

(D) on; off

'J?A) in; of
(C) at; about

Choose the word that best expresses
the meaning of the underlined word :
One must not eat anything with
grubby hands.
(A) unprepared
(C) rough

(B) silly
(D) dirty

Select the substitution that best
expresses opposite meaning of the
underlined word :

The players were in a jubilant mood

after the Cup victory.
(A) regretful (B)” repentant
(C) angry (D) despondent

Choose an alternative which can
replace the given words or sentence
so as to communicate the same
meaning.

A place where money is coined.

(A) bank <8B)_ store
(C) press (D) mint
fe=
?
(A} T (B) wuf
(C) R (D) 3w
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31.

32.

33
Y

34.
s

In Union Government at present who

IS Women and Child Development
Minister ?

(A) Maneka Gandhi
(B) Smriti Irani

(C) Najama Heptulla
(D) None of these

Which one of the following rivers has
the highest replenishable ground-
water resource in the country?

(A) The Narmada

(B) The Ganga

(C) The Brahmaputra

(D) The Godavari

Who wrote Kamayani?

(A) Sumitranandan Pant
(B) Mahadevivarma
,(C) Surya Kant Tripathi

' (D) Ja1 Shankar Prasad

“ 31""|'

‘Wh’iﬁf one of the foiloﬁiiﬁg’ began

| ~w:th?fhe‘ﬂ‘andl March?

(A) Home Rule Movememq; A)
( B) Quit l@dga Movement
(G) CMI‘Bisobedlence Mevement;
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QAR, RAS’ SAT' TAU; e’

37.
Fill in the blank.
(A) UAV (B) U:‘TT
(C) TAS (0 T

38. Which word does not belong with

the others ?
(A) Book
(C) Glossary

(B) Index
(D) Chapter

Select the pair that has the same
relationship as the original pair of
words :

Petal : Flower

(A) Salt : Pepper

(B) Tire : Bicycle

(C) Base:Ball

(D) Sandals : Shoes

39.

40. Five girls are sitting in a row. Rashi is

not adjacent to Sulekha or Abha.
Anuradha is not adjacent to Sulekha.
Rashi is adjacent to Monika. Monika
is at the middle in the row. Then,

Anuradha is adjacent to whom out of
the following ?

(A) Rashi

(B) Sulekha
(C) Abha

(D) Monika

In a certain store, the profit is 320%
of the cost. If the cost increases

by 25% but the selling price remains
constant,

41.

approximately  what
percentage of the SEIIiNg Pfice is the .
profit ?
(A) 30% (B) S 18
(C) 100% 0y Zak s e
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45,

47.

Find the Lom of 2,2,

27
2 8
) == =
( )27 < 3
8
(C D) —

) ( )27
Find the value of x in the expression
(17)** x (17)" =178
(A) 2.29 (B) 2.75
(C) 4.25 (D)- 4.5

A tap can fill a tank in 6 hours. After
half the tank is filled then 3 more taps
are opened, what will be the total
time taken to fill the tank completely ?

~ (A) 2 hours 30 minutes

(B) 2 hours 45 minutes
(C) 3 hours 30 minutes
(D) 3 ‘hOur's;’45 minutes

'Whlch amongst the foﬂowing is the
: largest mammal ?

podp
L

(A) Elephant
IG) Binosaur

 (B) Whale
(D) Rhinoceros

"Mirage is. an example of i

(A) refraction of lightonly =~
(3) tota linternal reflection of light only
(C) refr .,@m and t_’f"’!"
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51.

52.

53.

Badkhal Lake is situated in which

district of Haryana ?

(A) Faridabad  (B) Gurgaon
(C) Karnal (D) Ambala
State tree of Haryana is

(A) Peepal (8) Rosewood
(C) Guava (D) Mango

Pandit Jasraj is famous in the field of
(A) Classical Music

(B) Folk Songs a

(C) FolkDance

(D) Poetry

Which of the following town does
not have ra'lway station?
(A) Palwal #?Bf)s SR

-

(C) Nuh )
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58. The first novel in Haryanvi was
(A) Jhadufiri

(B) Premlahar
(C) Raja Ratnasen
(D) Shahi Lakkadhara

59. In India Agroha pilgrimage is well-
known for

(A) Maharaja Agrasen
(B) Maurya Dynasty
(C) Harshvardhan

(D) Swami Dayanand

60. In Haryana Government minister Anil
~ Vij belongs to which constituency ?
~(A) AmbalaCantt.
(B) Sonipat
(C) Faridabad FASED  (A)
) None of these Sansts  (9)
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65. The first work started by Swami
Dayanand Saraswati when he
reached Rewari of Haryana

(A) Temple Construction

(B) Dayanand Abbey Construction
(C) Dharamshala

(D) Gaushala (Cattle farm)

66. Meham Fort is situated in which
district of Haryana ?
(A) Hisar
(C) Rohtak

(B) Kaithal
(D) Jind

67. Haryana was known with which
among the following names dum:ag the

Mahabharata age?
(A) Haritdesha sow. {0
B) Hantpradesha N
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71. Wt\ich Muslim ruler invaded India 17
times between 1000 and 1026 AD. ?
(A) Mahmud of Ghazni
(B) Muhammad Ghori
(C) Qutbuddin Aibak

(D) Muhammad Bin Qasim

72.  On which battlefield did the armies of

Muhammad Ghori and Prithviraj
Chauhan meet ?

(A) Tarain

(B) Kurukshetra
(C) Haldighati

(D) Panipat

73. How far into the sea do the territorial
water of India extend ?

(A) 12 nautical miles
(B) 6 nautical miles
(C) 15 nautical miles
(D) 10 nautical miles

Ll
Whi -,__,ef the follow5ng lndlan state is
'"fetl&a ing producer of coconut ?

(A) Goa  (B) Tamil Nadu

}(@9 ’ 6aWa (D) Maharashtra

75. Which of the {_follawiqg states and/or&
. " union f’erritories' have a common

High Court? »

(A) Uttar Prade: “ﬁﬁ&sﬁﬁa? ()
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78.

Which organisation monitors the
working of stock exchanges in India ?
(A) UTI (8) RBI
(C) SEBI (D) NDC

When was the Shimla Agreement
signed by India and Pakistan ?
(A) 1965 (B) 1948
(C) 1972 (D) 1962

Besides the lion, which other animals
figure on our National emblem ?

(A) Cow and tiger

(B) Bull and horse

(C) Horse and dog

(D) Goat and bull , .

In whlch year was lndla 's ﬁrst news
agency PTI reglstered i

(A) 1947
(C) 1959

(B) 1958
(D) 1961

e 3 (()
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86.

87.

88.

89.

90.

91.

92,

93.

Who was the first woman
Mount Everest in 1975 ?
(A) Bachendri P3|

(B) Junko Tabej

(C) Santosh Yadav

(D) Malike Virdi

to climb

Name the lines which

equal temperature.
(A) Isotherms
(C) Isohyets

join places of

(B) Isobars
(D) Isomers

How long (approxumately) do the

sun's rays take to reach the Earth’s
surface ?

(A) 11 min
(C) 13 min

(B) 21 min
(D) 8 min

How many permanent members are
there in the UN Security Council ?

(A) 5 (B) 7

(C) 8 (D) 15

Which  UN  agency has its
headquarters in Paris ?

(A) UNICEF (B) ILO

{C) UNESCO (D) FAO

What is the range, in hertz, of the
normal human hearing ?

(A) 1000-10,000 hertz

(B) 20-20,000 hertz

(C) 2000-50,000 hertz

(D) 40-11,000 hertz

Who invented Logarithm Tables ?
(A) John Napier (B) John Doe
(C) John Harrison (D) John Douglas

Which of the following terms is

- associated with hockey ?

(B) Bishop

(A) Deuce
(D) Googly

(C) Dribble

94. In which country is bull-fighting the
national game ?

(B) Argentina

AU | BN |

(9\) Scotland
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95.

96.

97.

Which is the most abundant element
in the Earth's atmosphere ?

(A) Oxygen (B) Nitrogen
(C) Argon (D) Krypton

The 2016 International Minjar fair has
started in which state of India ?

(A) Tripura
(B) Himachal Pradesh
(C) Assam

_.;(D ) Nagaland

Who has won the 2016 Formula One
German Grand Prix ?

(A) Daniel Ricciardo
(B) Sebastlan Vettel
(C) Lew;;,l-lamilton
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